first pharmphill 426 made quizz

1- regarding the drug that cross the membrane :

a. uncharged drug are more lipid soluble than charged drugs

b.uncharged drug cannot pass through the membrane 

c. drug cross membrane by active transport only

d. for weak acid, nonionized form is the predominant 

e. in stomach, weak acid will not reabsorbed and will remain in GIT tract

2- clearance of drug :

a. is the rate of removal of drug in weight per unit time
b. not interrelated with first order kinetics

c. is direct proportion to the concentration 

d. is different from the elimination 

e. the total of the clearance is equal to the renal clearance only 

3- regarding the first and zero order kinetics all of the following is true except :

a. drug with first order is a concentration dependent 

b. for drug with zero order kinetics, constant amount of drug is lost per unit time  

c. zero order kinetics known as nonlinear or does dependent kinatics

d. drug will show zero order kinetics at low concentration 

e. drug with first order kinetics have a constant half life

4- regarding the pharmacokinetics all are true except :

a. the steady state is the amount going in per unit time is equal to the amount going out in a continuous infusion 
b. loading dose is a single large dose of a drug that is used to raise the plasma concentration to the therapeutic level  more quickly than would occur through repeated smaller doses

c. it is deal with the mechanism of action of drug

d. maintenance dose is the dose required  to maintain the plasma concentration at the desired level

e.the higher the concentration he longer the T1/2
5- the following routes of administration used for local and systemic effect except
a. oral adminstration
b. rectal adminstration
c. subcutaneous adminstration
d. inhalation adminstration
e. topical application     
6- all the following substance are liver microsomal inducer except
a. barbiurate 

b. phenoytoin
c. cimetidine     
d. rifampin
e. spironolactone

7- According the therapeutic index which all of following statement are true except:
A. Is a measure of a drugs safety.

B. Is equal to TD50 / ED50.

C. Warfarin has small therapeutic index.

D. Penicillin has large therapeutic index. 

E. The lesser the therapeutic index , the larger safety of drugs.

 8- According the potency & efficacy which of following statements is true :
A. Clinically , the potency is more important than efficacy.

B. Potency is direct proportional to ED50.

C. When the Greater the dose required for given response the drugs is more potent.  

D. May drugs which have same efficacy , show difference in their potency.

E. Because the inverse agonist is considered as antagonist , it has zero efficacy.

9- According the Antagonist which of following statements is true :
A. Is drugs that combines with receptor to inhibit the binding of agonist & produce responses.

B. Reversible increases the ED50.

C. Because it inhibits the binding of agonist , the antagonist has (–ve) efficacy. 

D. Irreversible antagonist dose response curve is shifted to the left.

E. The curve of agonist alone is not parallel to (agonist + reversible antagonist) curve in high dose.

Goodluck all

study hard
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